APB
PROVISIONAL ANSWER KEY

Name of The Post Industrial Promotion Officer, General State Service ,Class-2
Advertisement No 108/2019-20

Preliminary Test Held On 20-12-2020

Que. No. 001-300 (General Studies 1-100 APD + Concerned Subject 101-300 APB)
Publish Date 21-12-2020

Last Date to Send Suggestion (S) 30-12-2020

Instructions / ¥Aeil

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as cancelled.

GHedIR oflAeil Yol Uldel scloil d3el] Avid], Boell ditl-Uel i) 539 231d] tla
Qq2l «1&l

(1) GRedR ditll-YUell (ud S #4199 ditl-yUel Ustsefl % sdlell 2.
(2) gilsﬁu% Ll%_llw-ll@ ditll-YAeil % Sl deA L2 U URied €A [Hud dittl-ydst UnAsell sl sl o
ISR

(3) GReAR Uldla Ulatiti HAG UsY RdsIHi U6 YslsHIS Yo ditll-YUell 2% ol Sl dHIH ditll-
YUst] A2 U URied = Ulldaeid w12 S1 (HI12R UBUA)stl WS SHIS Yool Ao d e
% 5ql.

(4) U122 YBUA Hi [EY sl w4 [dseu RidIdell ditl-yUel Ll ddHi 41d9) A&l

(5) GRLAR B UBlail [A5EU YR ditll zaq 536 O el [A5@ Y % i[04 ﬁ%aq 8 2 %oy GRed R Uldlefl
GriRdIHi wiUd sldl %2, GHedIR YUdd %allod we Griaeledl osaliod (@at s2l dl GHedR %
539 dlitl-YYUel liHi Q9] i&l.

GRENERIERNEL qiul-q[uei e qmzci.a[ﬂs o ditll-yUel UAAsHI A 52l ad R usllefl 29g2d1d 534
&2l dl d 243lell ditl-YUell edlel IRl oAl



001.

002.

003.

004.

00s.

006.

dR8ldR Heled Hl2 (A9l DA A £y (A / s [l a8 2

(1) > 422 AldSY2L 8 A ©.

2) B e 21 92 Uldsiz Al calad d Auad x1eisd 2 [AsRida 2] Gerge .

(3) weondl @uaz-l AN sARISD grt HlEl Ut Yedi 32512 (A1 dg y:[AHiR saui
2y,

(4) dRQdR 22 A 2w g3l Ay 6, [Amgy 43, eaL £3 2 [Dags

@)1, 2,311 4 (B) WA 2,3 21 4

(C) WA 3 MM 4 (D) 1,2 %43

garil HiRL (A9l DA UL £ (el / s (Al aea 9 7

(A) d GTiR AAdHL 2Udd Gl Yadrdly an .

(B) earil I\ 04l w1ivy 25021 Gty [Qiew Ha ¢,

@A) @ (B) vir

(D) (A) 1 (B) visunt Al

uzion a0l (gl DA WSl s (A / san Qi wen e ?

(1) u2lou RIS A HSIRAR A% A1ed) suld e Al 6.

(2) el 12 H) AN A AUL Sell.

(3) avue usai il A A (Weft) A 2a1ail as-llsd [Zua $551d s8ami 2ud ¢ ?

(A)1,2 %43 (B) 1A 2 244 3

@) 12112 (D) Gur-u UA sy Al

et agAx U-2lor (gl aA-u Wl s [t / s (sl a8 ?

(1) $ASIRL HA G (Strong) 22U BUALAL 52l Sell 24l US-2loAuir A3l [ d 2Aivl ealaa
UL Sl Sl

(2) sASIRL US-ElounE ulSaviiA 2uequeiedl uonde saL UeL UAE 5l Sdl.

(3) 22U i v 530 WM, Wl (minerals) A Al A2l ALELHI UL sl 2UadlL Sdl.
@)1, 22143 (B) HA 2 341 3

(C) "R 1 21 3 (D) {1 1 211 2

wRI (Al (@9 DlA-u A4 & [/ s Qi e e ?

(A) A 315 WAl suRdl (@R 8dl g1l il Wgd 24 gl GuloL 2L 8dl.
(B) d Hi2weudl xaiel sl quuadl gdl.

@A) @ (B) vir

(D) (A) »1acu (B) 2Asuat -l

el A -t GrugisR all (gl DA WS £ (At / s Qi wen €9 ?
(1) au-ll 5ld “Nishit - The God of Midnight’ 1 514 A €.

(2) du-ll aasa ‘suaell Hol 3L uusal .

(3) ARl gld adl’ 2 w2 AuL ©.

(A)1,2 %13 @123

(C) WA 1 24 2 (D) HA 2 241 3
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007.

008.

009.

010.

011.

012.

013.

naH Yol dond-l yarudl Ben (gl DA WA s [ / san Qs a9 ?
(1) 1945 Hi 227 240l 2[4 Hddl [Bew 2 uan yol doud-l desidl Beu gdl.
(2) S afla 2 2 2als- [gas sdl.

(3) d Al 15 Hl Al 5[ 241 A uR 2uRd ¢dl.

(A)1,2 %43 (B) H1AA 1 244 3

(C)HA 1 241 2 @) 2 27 3

%l SlARAL 56 UHRAML, oMl Y2 9% 53 8 d Wld [Aogu- [Azen Hl2 sui 2udy © ?
(A) GlgR (B) M&IAAQH

@< (D) 4l 3au

QA Q4L 56 oAl wlou Ad eAscdl €9 ?

(A) [asnallen [Qaulasnan — Gur ue (B) 8H$S 3aRl — [Swad uga

(C) Geulidl 512l — MR @)>rad st :qu — uiguea

As-cdlu s Qg A& U8l sy [ [ s lasd a8 ?

(1) cgull-64iRL (Bluish Grey) 2dlaL ugaR (Sand Stone) il GuaioL.
(2) oles 2t B 4 uR 2R [Ny Az,

(3) ALAUS WASL GIRA SUAU HUUUHE U Sl

@) 1 (B) HiL 1 241 2

(C) 1A 2 i1 3 (D) Gua-l W4 visuwt 1l
A Q4L 56 sl wlou dd eAsel el ?

(A) Rl US+EloL (Warli Painting) — HSIR1N

(B) Y251 UdloL (Thangka Painting) — [alzsn

(C) Hogw el (Manjusha Painting) — [Brsiz

@) 551 US-Aa (Kalamakari Painting) — 30

A2 WAL SAL 4 A A UL 215 2 Al ?

(A) B (B) &Ml
(C) As @)z
A QaAl A ... Acdld WAS WA AsnA e 69,

(1) 48l “Blood and iron” (R5d 21 dig) L U 24u-udl sl

(2) d [2eL 211 WA (Sijada and Paibos) Ul AHIRASL 2UAS AL Sl

(3) gl agsd [Acudt ((Ram-2A-2108) Yriolsrt 53 24 % AlAs ¢d Al 2 ALY A gl A Urait 2l
gly.

(A) §A01E oty (B) HegHl

@10 (D) 21c1GElA vlaw
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014.

015.

016.

017.

018.

019.

020.

021.

022.

Yt

d3Hl allls 2120 dloadl 282 aleus udan giat uicoll wHl curdly Adld AHi AU uaH
audl ........ 8dl.

@idisua 2002 (B) Y571 BHRD)
(C) »=(dEl ain (D) SIEIRUS AARID
Wl HiRaxi (¥l 2 g e ?

(A) Al [Rena W2 204 %ridl YR @Ruadiml 2ddl $2.

(B) s IR o4l el

.Quu{l A=y 2 2AESAN20 Al W2 o) H"@;’a (Forced Labour).
(D) #is usik-l [ala,
DA WA S ouotd MiRanl 2iAw Riaadd agzsud s397?

(1) Charter Act of 1813
(2) General Committee of Public instruction, 1823

(3) Orientalist (24) and Anglicist (?){°Léflcllél) Controversy

(A) 1A 1 244 2 (B) H1AA 2

(C) WA 1244 3 @)1, 22113
el WY AN .......... GIRL SRAAUHL UL el

@)caa vun (B) ASHE WS
(C) &d) (D) (31 we
e onusaisit AgouHl 2 dv-t Yy ......... o=l

(A) E1D Y&l @):ruw ol
(C) i3 A (D) HESIR A
SUmlL AT 86U A A YA -l G 61y ?

@)ouz (B) gH1y

(C) x1501R (D) sidllx

Ul gaui-u 3gein-udar (Aol N U4 sy [ / sui [l a6 ?
(1) d AUl QA Sl

(2) ARl S151AASHE YL AT, AHRSIH S,

(3) Ay Aaswll 2 d-l @S (Son-in-law) el

-

(4) 212UG ASIULAL AL Lol 8011 Hi2L UL U dBl @il uisoL Aadl dla gl

(A)WA 1,2 24 3 (B) "1 2, 3 i1 4

(C) WA 1244 3 @)1. 2.3 24

f2l-u U siel wizeflui 2dlsi-ls ieueagiR-l azud s30 ?

(A) 51D AAD (Kanyaji Ravaji) (B) AU AAD (Jayaji Ravaji)
(C) awdlR® AA® (Lakhdhirji Ravaji) .Clltl"\bﬁ A4 (Wagjhi Ravaji)
AYARUA A ... AL AL £ AL UAHAUR iUl WA 602U .

(A) t1eoirt @16 vilaw

(C) HeHE ol dads (D) 5132 dads
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023.

024.

025.

026.

027.

028.

029.

030.

031.

032.

1857 [Awa oug (B2 A yrivlswt ouoid N WA s [Qtuq / san (@l a8 ?
(1) Auni gl wldd Bisami 20y 8d.

(2) A~uHl ge1gel AL totel wisal W 2w, oRv dl s2dfls alail [Briasius 982 sami 2udl
Sdl.

(A) WA 1 (B) M1 2

(C) WA 1 244 2 @)1 »1aq 2 2sua adl
A Y4 59 ien2il 24 [Ke 911 ananui cuol dlal gdi?

(1) [Sg neruen (2) AU U Aas Y (RSS) (3) Hrdlu dla
(A) WA 1 (B) H1AA 1 244 2

(C) A2 1 3 @)Guz-u WA Asua adl
A0 WA & (A2l 2 Hig, 20t (Metal jon) 4 8 ?

A) Q2@ - A @ 2w - B12

(©) [@aua - B6 (D) AoiisAdln

DA UL sl 00 2 A ([ gie adl e ?

(A) Aluid (Newcastle) 291 (B) Blue tongue
.Babesiosis (D) Marek’s Disease
A ([ug)dl Asfa 2da a1 sl ......... UHAL WA, Gewed 52 69,
.Interferon (B) Properdin

(C) Gamma Globulin (D) Hybridoma

depu sl A aellaiR .......... AZls 20w 69,

@)ruslls 2212 (B) 215 vid:0d

(C) Alginic acid (Aceo-ls »il3) (D) AJHL

A WA 200 A8 d-ll 2uuwA Adial 9 ?

@14 (B) Han

(C) Y1 ) RAK

ALY A, velAl 3 % Hidd AR dat AR ALWH A3 D d .. a<l3 2itreuy 69,
(A) Deoxyribonucleic acids (B) Antigens

(C) Enzymes (@c@illf;l) .Antibodies
Al 4l lyr-e ddls quug nadl .......... Slu e,

(A) Ml SI{3ALEAS S (B) el uSziosn

(0 EETMERET BT (D) Y1 6128

adHir Al 2sidiui A U4 ) 21 wiel dozdlugw (Large Luminious) - Alell ay, silam
ey ¢ ?

(A) Mercury Vapour Lights

(B) Fluorescent bulbs

(C) High Pressure Sodium based bulbs (G geugiai ALlam 2uaRd v101)

@) LED lights

APD - MASTER]| 4 [ Contd.


GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight

GPSC
Highlight


033.

034.

03s.

036.

037.

038.

039.

adHir aHaHl 2sldiooui [AYd HWie Y .......... ol s Slu 97

(A) H3 AC Power 4l (B) H12A DC Power 4l
@) AC 3 DC Power g1 5122 ¢ 23 (D) Gur-u UA sy Al
GAGAN Bus AlUS S1A5HU A .......... USIR-1L AL AU,

(1) Geodynamics

(2) Geographic Data Collection

(3) Location based Services

(4) Navigation and Safety Enhancement

(A) WAL 1 244 2 (B) H1AA 3 244 4
(C) WA 1 41 3 @)1, 2,3 24

Sedld Aus ud sRud Rrualds At e (Central Salt and Marine Chemicals Research
Institute) 24 JAAAAH .......... viid [Rud €.

(A) iR @) cua-oR

(C) AR (D) w512

2 24 gnaR Ssiflen (wutaze uudl) WAL il vl wal@s Gaunesdl Al ay ¢ ?
(A) vieal Q{ﬁﬁ\l (Open Oceans) (B) vidlu ¢9199¢fl (Continental Shelt)
."lél"ll Hu ol viLdl (Estuaries) D) sl (Streams)

orud (Al DNA-u WA £ (At / s (Al aen €9 ?

(1) 214l Aasu-ll e[ 5269 1 Alel)l wial [Feal 9.

(2) 1AM aAsa-l e[ Alel -u-l (el siae.

(3) AXRAAHL Yel 2 Alell Ay azdl uRadl Breal 8.

(4) 1RAAH] HELUE B Al ay, ardl AMucd vuadl (el 9.
(A)1,2,3 214 @) 1242
(C)WA 1,2 243 (D) WA 2, 3 1A 4
orud (Al A1 U £ (At / s [Qail wen 97

(1) AeARSI6L, trlAsisl A1 M3 A 2ulenld (el .

(2) 54 14 [yeail >ulzoanld (et adls YRR saumi 2uen 9.
(3) AAaHl 2ul2ld adl >u 85-90 cm g2dl 8.

@)1, 22143 (B) HA 2 341 3
(C) WA 1 24 2 (D) {A 1 241 3
AN el (gl DA WAL 53 (et / s (Qaunl aes 972

(1) oMl Al Aornani denss 323 [3.41. ©.

(2) HEL gl adeirl deRudui densd 161 (3.4 8.

(3) Al gl agai-l drnani denss 322 [5.41. ©.

(A)1,2 %43 (B) 1A 2 24 3
@) 1212 (D) 1At 2
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040.

041.

042.

043.

044.

045.

dornc-ll udarmouil (A2 - A &4 [Qeun / s Qe a8 2

(A) 2Racdll uddou AoRndHi 2u0y videdl A3 A 9 ¢4 aiflydl 2w adl wadte vud Qe
uddHIUHL AHS A0 8.

(B) »Raccll-l 2uYR Wi A gidl, viseHl, $32 2 ool [2au ds o © 2 [dea il A
N 8.

@A) @ (B) vird

(D) (A) ¥ (B) 2Asust .

MRAHL 4cdlsun Aol euoid DA WA & [Qanq / s [l a9 ?

(1) AHA BriR ydlu (R dal AYARAAH 5297 201 3 HRALSUAL Bir-5 Hi 2ud 8.
(2) AAAAG, SL5AWR 24 4Rl U B-3 Hi 2ud 8.

(3) YR A AHELUE ASRA A Y4ALSUAL Bii-4 Hi 204 9,

(A)1,2 %43 (B) 1AL 2 2 3
(C) AT %A 3 @)1 1214 2
A2l €11 A wEl-11 18 A,

wel-1 eIl
1. A4 a. dAl5A, UL AA AAAS
2. AMEL b. U2, 58
3. wdl . MIER, WU
4. aw d. R
@)1-2,2-b,3-¢ 4-d (B)1-b, 2-¢, 3-d, 4-a
(C)1-¢, 2-d, 3-a, 4-b (D)1-d, 2-a, 3-¢, 4-b

A1 U 56 AL iy Ld A ) ?

(A) Al 247 Yol Wdl — w2iorn, 512534 24 Al UIAL-L L610) UHIRL.

(B) @212 HIEL — 6i1RQMi a0 da &R usld.

(C) s 1A — gus WAl L Ardlu ugial dan s1eis dedld 1o1v) UeL 4R1d 6.
@)Guz-u W4 AAsuat 1l

A YA sy (At / s [l a9 ?

(1) Ry 2 sl [Briaa-l Agl>uni Alell ay ulam ds 2udd 8.

2) [Riy i [Avi2 xni el Y 125 2uddl [84 A8 (Glacier)uidl Bgma .

(3) 20U 2 Ny Wi >udd) 2l B4 €l (Glacier)Hiddl Gg™a €.

(4) UYL A e uddroumi 2uddl A1 Yot $1 [84 el (Glacier)nidl Ge™ma €.

@)1, 2,3 24 (B) WA 2, 3 11 4
(C) A 1, 3 u 4 (D) WA 1,2 244 3
“yuivilau ..., 12 nelldl €.

(A) 61271 Bewgn (B) 5181 G
@) - Gewen (D) Q- Gewg
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046.

047.

048.

049.

050.

051.

052.

053.

054.

QURARE 20dd DA WA 54 a0 A 50130 YU deizu [3e0 (Vertical) W s ell ?

@i (B) 41§

(C) A~ud (D) R3an-ay2u
HeurL G ugami A WS suusi-l wdl A o e ?

(A) Laterite soil (B) cld Hiél

@) sl (D) Gua-u UA sy Al
¢912L oY1 B2 NS AHL SUL USIRAL WISl AU HA €9 ?

(A) 2[B3H5d M3sl (B) siu-il (¥Ngel) M35l
(©) [agd wssi () IEIRTREREY
ofrRainl YuRill ugldzd la-u W4 su eguidll dani 2udl € ?

(A) USA (B) UK

(C) 2l @)z 2ulz5

GURAML GIHIRRIAL PUHBL AFAR, HIRA AWARS A WA su1 s adAdid YA amarg
QAL PUUUHL 20 €9 ?

(1) [Q012+1 2adad (Liberty of thought)

?2) EEIEY (Faith) a2l Gui-udl ad=1d (Liberty of faith and worship)

A3) wi[FHeulsa-l adtdl (Liberty of expression)

(4) >ua-l Aadtdl (Liberty of belief)

(A) W= 1 244 2 (B) H1AA 1 244 3

(C) WA 2 241 4 @)1, 2,3 24

arguld/rawal w2l sieidla siadlell alsaod uldau ouoid N W sy [ aea -l ?
(A) AELAA 2 A%A- Q3L 519 UL us1R-0 5% (Duty) [Actiac W2 $% (Compel) Wil a3 .
(B) Wlctl $3% Widr {12 AL A3A 51O AELAAA FUALIR <14l

(C) A%AN AL YUKER el HIZ U 2NZ) s sustd AerddA uldoiy €.

@[50 uldRan 2 51 @alzan Az asid sdandli sed vgiadHi ussiRa w2 wldsifd s2 8.

A 5 Alsd A .......... ar-fl GHR yul 531 Sy, di d-ll Yaiua-i a6 a3 uisdll 530 asiu 9.
(A) 18 ad @21

(C)25 (D) 30

GURCAML GIHIRRIAL A 2AIE 343 L [R€lA ......... adls gilid 52 8.

(A) A2 AL (National language)

(B) AU MM (State language)

.Q{El'{l AR AL (Official language of the Union)

(D) Aa-ll adlaldl (unl (Administrative language of the Union)

ARl s8R AL ............ HL ML AY 1 A%UL A=A AL AR SAUHT el 69,
(A) X @ x1
(C) XII (D) IV
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055.

056.

057.

058.

059.

060.

061.

062.

063.

(21812 321 g1 s wRRUH Biddld HIRAHD ALl waudl-l az2uaq as ?

.Charter Act, 1853 (B) Indian Councils Act, 1861

(C) Government of India Act, 1919 (D) New Constitution of India (G{Rd'j, '13', "iﬁll:&'&l)
A0 U4 53y [Qannysa (Al a9 ?

(1) B2 247 Y3uiA xS 12 A At WS Wl 53 dd) 516 A ¢ sitiami
4.

(2) 6i1RRL UL ARl cavARd s, -l

(A) WA 1 @2

(C) 1 A 2 i (D) 1 242 2 2A5u8L ]

DA UL 5l WAL 2 6i AL 2 AAUEHT UAIR Al HIE [y otgHA 3Lt qad € ?
(A) Finance Bill ([adla wz3l)

(B) Money Bill (-iu wR31)

(C) Ordinary Bill (U1~ W231)

@) Constitution Amendment Bill ({121 YRR ¥RSY)

42 HL YRR 2ARRUH, 1976 gl11 MURARL t{REL Uy 1AL WS sul ase GHAUH 2ul 4
Sl ?

(A) 203 (B) uMxalel
(C) [Bin Ainels @)Guz-u WA sua adl

Apulla-n Holeels Rugidl vidslan DA WEl-u su1 w2698 861 oitnelly (Yaul) AlRun
2002 g1 HAMA e[ ¢ 5 a5 JuidRd scumi 2ucl ?

(A) 21429 51 (B) 24249 49

©)>112¢ 45 (D) A-4269€ 44

@Rl ‘Look East Policy’ 4t .......... 22l 18 2ue U 247 ygicns Abibl [Asumaa-i nAl 3u 8.
(A) 2ul3s @)= (2o ud 2R

(C) Yrlu (D) A&l x4

MIRAHL YARAB s1us- Gaildr onoid NaA-u WSl sy (A / su [l a8 ?
(A) d Getia ueua udl 8l Gaala 89,
(B) A MaH 20Y[As YaAB s1us Hla 185441 Yrd vid 2w gdl.

(C) (A) a2 (B) b

@A) »1aa (B) Hsuw 1l

QA 94 56 wlala 2 (Corporate Governance) A @l Al ?

@)1.5.R. yoru-lun afld (B) R A

(C) -ua Y& Afld (D) Geu sies ulla

ARl dny u-dl slad Ssu 2slAd aden ¢isin 24 5171 suL (iSO uoL 6 ?

(A) pu5(RUS *igin (Contigency fund) (B) is[Ad *isin (Consolidated fund)

(C) AUHA 3N (Reserve fund) .%@2 [82ue cisin (Public Account fund)
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064.

065.

066.

067.

068.

069.

070.

071.

072.

073.

Azl [Auus Asueri Rigiaui 2ildu asissi .......... 8.

(A) S HEAAL ), Y € URL Al €9, (B) ¥~H €2 AL 8, BAUR HY € U2 B,

@) e auyy evinul 9, (D) Guz-it YA Asunt ALl

QURAMT Sl ootd A1 WA sy Qs (Al aea € ?

(A) Al yalu alor-umi 2AenBiseil 48 AL HIAZU 2UULA AL VAL EIHE $AUHL UL
@) 1120 vaardlu diog-ua awlde gl e Rgua sy

(C) (A) a2 (B) b

(D) (A) 1 (B) visudt Al

D2 WAL 565 ouotd 2 G-l wigla Ald (Fiscal Policy) il {vu ¢, el ?

@)>1eldini nadlar asrdl (B) *ua Rt Ui

(C) 2uas i AUlAHl AAHAA YAdH 5l (D) AU dsiA UleAis L 2ug
124l Yaanla aiopnt ......... uR it 5l sau-l 8l

(A) 33Ul 41 2518 [As1 @), ay wulde 21 256 Qs
(C) A »A 2516 [asa (D) 2516 (a5

A0 WA 5y [Qann / s Q- aea €9 ?
(A) AU U1 200941 JRULcAa S1A5H A3 sUl.

(B) walAs [Aeua (ML T - V) Hi gl 2062 (daal 2601 918 2+UR) €2 21 1999-20004i 22.30
ulAod Sal dui AausL w21l A5 2018-1940 d 1.40 Uldad 2da €,

@A) @ (B) i

(D) (A) ¥ (B) 2Asusl sl

2ulzonla [Qenedl-Nati-n Har-Rdan 2uedl digu ......... a<ls 2o 69,

@)1~ (sl (B) At G-I+

(C) art by Ml (D) art ¥i biY oulas A0

ulH A 24269 udaa lel (SSG) Hi AARUAd UAH 51 20dd 8. AoRAdnL .......... [recu wlEn
oML UAH $H HU™A SAUML UL,

(A) Yaus1a @ e

(C) Yrd (D) €18i€

aell ARl 2011 AFAR, AR 24U R Al WERAL ER A .......... 8.

(A) 76% @79.2%

(C) 69.8% (D) 81%

Al a1 2011 214AIR, Al IR azdl-l wldad.......... 8 21 d dla uldaid sdi.......... 8.
@)57.4% s A (B) 67% i Glal

(C) 57.4% A1 Gl (D) 67% - -l

L=l A3 WElA .......... o, AAl55 52a1 (CHAMPIONS) Wil 203™ sul 69,

(A) ™adli (B) 31522l

@ MsME (D) Guz-it U4l Aisunt 1)
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074.

075.

076.

077.

078.

079.

080.

081.

082.

083.

RBI %1 615+ CEO’s, Y&l auaril [335220-0 Guell au walel .......... YAaa 54 8.

@)70 (B) 65 ay

(C) 60 ad (D) 75 ad

UN World Investment Report, 2020 201, 201941 HRA A .......... su-L Alell Wl FDI W sl
8.

(A) 5th (B) 6th

(C) 8th @)otn

uRdl .......... 2124 (UNICEF) 012 19l 2iasi e HiAa- 224l ydl uisan s yast sar
sul 69

(A) Bharat Biotech (B) Biocon

.Serum (D) National Virology Institute

EPFO A7, MIRAHL 2018-19+ uuumellA 2019-2041 200025 AisdMi ......... %l ARl a4l 8.
(A) 12% @)28.1%

(C)32% (D) u2Lsi

2{3&1 AL YRau ulRue (United Nations Security Council) (UNSC) -l (Bt sruall ue adls o ay
12 cuRdl uzigoll 4 B, G A1 UAE AAAL AU 2 ... 8.

@504, 2uad-s, S nd Aid (B) nal2ia, yourst, oH-l x4 diguia

() S=siRw, elag 2351, A4A-3 A WA (D) sendlay, araRa, Saidl v aufla

UNHCR 412, 20190 2id Yl @ .......... ulagid azdl 2 einroidl yds Alus 3 [@AralRa
ag .

(A) 4% (B) 3%

@1 (D) 2%

MIRA TB ASAUY 2020 AZAR, HIRdAL .......... A% 21 TB USEIHE 2% UELA 5l AU 2lA,
QA HNY 69,

(A) &g U (B) U1

@152 D) Bedl

QA WA s el digdul [Qasi-ie alan (A2 [Qenaa-dl el sami 2udl ?

(A) UK (B) sl

(C) AU @)Guz-u WA Asua adl

lA a6l AU HFAR, 1A 6sHE WU FHL sAAA] BUAAHT HIRA ... $9 204 6.
(A) 4331 (B) 57%1

@77 (D) 1031

MRAlL s gd d-l .......... vildHl 8l g0l 22U LCA d%d A1 A% Al Scond Squadron
‘Flying Bullets’ A4 511201<) sl (Operated) sul 9,

@)siS01qR, alanug (B) M&lw3L, Yoot

(C) 312, [Bwaa uga (D) S2L11R, HIRUAE UL
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084.

08s.

086.

087.

088.

089.

090.

091.

092.

093.

MU U517 A Al ASE) uvidil {14 Garbage (5420) Y ASAU 221 a1+ almen 531 69,
FHL A ... AL 5 2212 35 WAL 6,

(A) AHELAUE 24, A3 (B) QUARIR 1A A3IER

(C) A3LEA A AHA2R @)1 512 w11 YR

AIRAIM A A3 HI2 BLER A U HAA A GriRuvisL ... sl 1 440 W2+l 2aq Ruin
$4 6.

(A) e8gr @)L

(C) 324 (D) Gua-l W4 visuwt 1l

g g0l oL Y3, =8 w02 29 AR eunst 8. y3ui-l uu2 Gu 70 au, w2l u3 U 35

-\

ay 214 ounsi-l U39 GHR 11/3 A 8, di d gZei-ll A2 Guz sedl ugl ?
(A)31ad @2 i
(C)32.5a (D) Gu-1 Q4 visumt -l

A 2 WIS 25 S14 25 A1 12 [Bamni yel 53 A3 6. oA As- vAsdl d 514 20 [Bauui s30 a3 dl
HigH M5l d s14 Sea [Bauui 530 asal ?

(A) 16 [2axn (B) 18 [2ax
@30 Rau (D) Gua- U4 sy Al

25 sl2l5HIHl Al3d dRs S P2 58, “d Al [Rdl, Wl Rai y169”. di d si2iusuidl als
sl ?

(A) P <l &us (B) P uid

(C) P - 5151 @)Guz-u U Asua dl
15 WAL 55U 209 dl drl UR 4 5L 2] vl 2ud d-fl Acuanu sed)?
(A) 1/3 @12

(C) 2/3 (D) 3/4

12 Q4 sl 298 3/5 sl Hizl 21 6/7 sl -l 87

(A)1/3 (B) 1/2

©):/3 (D) Buz-u W Hsua Al

w15 216 Hle aivll 21 100 [33l/scusl 1330 ald 52 9. d el 2nadl 224 Hl2z aioll 244 12 A5l
AR 53 9. dl ollew 2l B3y s2efl wal ?

@)32 Bysans (B) 36 Bxl/scus

(C) 40 [3xl/scus (D) Gu-1 Q4 visumt -l
AP L 12% A Q Ul 6% F2A 814 dl Q -l 16% i P Ul 526 % $?

(A) 8% (B) 12%

@)s2% (D) Guz-i U4 2isunt 1)

oY =\

s A3 s 2 vidR-) [@Asel doud, 5 BHYsasD »30 0d dl 3 PR stdl 23 9. dl d ARk
Wdr fAs0 52¢ &4l ?

(A) 62500 i (B) 50000 1.4
(C) 45000 .. @)Gu-u WA Asua dl
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094.

09s.

096.

097.

098.

099.

100.

(Ao D2 6 [Qausl 211 6 (Aesul 2uuami 2udd 9. 2uua Qe i el 2uda Ryl W4 s
[Resul [Qanqid dulEs Ad 24643 8 d weual.

(el : (-1 - cagai d=u 8.
(A2 - earn At Yresl .
[Regul : [Feg-1 - oasn 2l gail .
[Res-2 - o1 sl yresl o,
ARl oL {12 Yoot suul:
(A) HiotL [Avsn-1 242 6, @) [Fssui-2 2143 8,
(C) [Anstl-1 1 [Fegl-2 o1 21442 8, (D) 6inl WA s waL (s viqudl el

(Ao D2 6 [Qaustl 211 6 (Aesul 2uuami 2udd 9. 2uua Qs i el 2uda Ryl W4 s
[Resul (e dulEs Ad 24643 8 d weual.

[Qal: [Qan-1 - S2eus wal swflau 8.
Qa2 - s2dls sl ywa .
[Regul : [egl-1 - o vl ywales.
[Resnl-2 - s2ells sioflot ual ©.
ARl oL {12 Yoo suul:

(A) WA [ns-1 21443 8. (B) 1ot [Anss-2 21442 8.

(C) [esr-1 249 [es-2 o4l 2R 8. @i U4 s uw Fes] 2igudl 9l

6] AUAAAL AL AL, 4641 247 AL 21 9. oA d UE A5 ival 357 Sl dl olley v 56 ¢al?
@273 (B) 441

(C) 381 (D) Gu-1 Q4 visuwt 1l

25 Gl Asals -l Alls €2 10% 6. A 245 54 =12 AN uS &l Y5 2udl Sld dal d o Yea
3L 46585 S1U dl d o 254 526l ¢al ?

(A) 3L 32000 (B) 3L. 32500

@)3.. 35000 (D) Gua- WA sy ]
s AR 2ol 4, 2, 1.... 4 74 ue 3 sa?

(A) 1/8 @1/16

(C) 1/32 (D) Gu-1 Q4 visuwt -l
1 {122 cua 21 7 W2k G- sy ansn seg a9?

@)s.5 a2 (B) 22 a Hl22

(O) 11 8 HleR (D) Gu-1l Q4 visumt ]

5 AS[As KL “LIBERTY” -l 813 “2121221”° €14 dl “INDEPENDENCE?’ Al 513 sl 491 ?
(A) 122121221211 (B) 112121221221
(C) 122121222112 @)Gu2-u A Asuat dl
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101.

102.

103.

104.

10S.

106.

107.

108.

109.

110.

111.

When the temperature of a solid metal increases,

.Strength of the metal decreases but ductility increases

(B) Both strength and ductility of the metal decrease

(C) Both strength and ductility of the metal increase

(D) Strength of the metal increases but ductility decreases

Which one of the following is the hardest cutting tool material next only to diamond?
(A) Cemented carbides (B) Ceramics

(C) Silicon .Cubic boron nitride

Nano composite materials are highly preferable in design consideration for their

(A) High resistance to crack propagation .Vibration resistance

(C) Impact resistance (D) High resilience

Wood is a natural composite consisting of which of the following?

(A) Lignin fibres in collagen matrix (B) Lignin fibres in apatite matrix
(C) Cellulose fibres in apatite matrix .Cellulose fibres in lignin matrix
The viscosity of petroleum oil for hydraulic lifts is

(A) High @ Low

(C) Moderate (D) Very high

Which of the following is an inorganic polymer?

(A) Teflon (B) Perspex

. Silicones (D) Bakelite

The aluminium oxide abrasive is chiefly used for grinding

(A) High speed steel (B) Carbon steel

(C) Wrought iron .All of the above

The action of steam in a steam turbine is

(A) Static .Dynamic

(C) Static and dynamic (D) Neither static nor dynamic
The gas constant (R) is equal to the of two specific heats

(A) Sum .Difference

(C) Product (D) Ratio

The measurement of a thermodynamic property known as temperature is based on
.Zeroth law of thermodynamics (B) First law of thermodynamics
(C) Second law of thermodynamics (D) None of the above

Which of the following is the correct statement of the second law of thermodynamics?

(A) It is impossible to construct an engine working on a cyclic process, whose sole purpose
is to convert heat energy into work

(B) It is impossible to transfer heat from a body at a lower temperature to a higher
temperature, without the aid of an external source

(C) There is a definite amount of mechanical energy, which can be obtained from a given
quantity of heat energy

.All of the above
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112. Addition of heat at constant pressure to a gas results in
(A) Raising its temperature
(B) Raising its pressure
(C) Raising its volume
.Raising its temperature and doing external work
113. Which of the following characteristics of electrons determines the current in a conductor?
.Drift velocity alone
(B) Thermal velocity alone
(C) Both drift velocity and thermal velocity
(D) Neither drift nor thermal velocity
114. Kirchhoff’s Current Law is based on the fact that
(A) There is a possibility for a node to store energy
.There cannot be an accumulation of charge at a node
(C) Charge accumulation is possible at node

(D) Charge accumulation may or may not be possible

115. For a 3-phase load balanced condition, each phase has the same value of
(A) Impedance (B) Resistance
(C) Power factor .All of the above
116. Which among these is a method of wiring?
(A) Joint box (B) Tee system
(C) Loop in system .All of the above
117. What does illumination refer to?

(A) The wavelength used to generate light
(B) The ratio of light produced to energy consumed
.The distribution of light on a horizontal surface
(D) The colour patterns used in lighting
118. How do LEDs generate light?
(A) By heating up filament
(B) By moving electric current through a tube containing gas
(C) By ionizing mercury vapour in a glass tube

.By moving electrons in compound semiconductors

119. One of the main functions of personal protective grounds is to provide a impedance
path for a short circuit
(A) High @ Low
(C) Smooth (D) Adequate
120. The speed at which the CPU processes data to convert is measured in what
(A) Megahertz (B) Gigahertz
(C) Nanoseconds .Both (A) and (B)
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121. A hard disk is divided into tracks which are further subdivided into:

(A) Clusters .Sectors
(C) Vectors (D) Heads
122. Step by step instructions written to solve any problem is called
(A) Pseducode .Algorithm
(C) Assembler (D) Class
123. C programs are converted into machine language with the help of
.A compiler (B) An Editor
(C) An operating system (D) None of the above
124. All Operating Systems get their total memory initialized from?
@)si10s (B) CPU
(C) RAM (D) ROM
125. Which management theory focuses on managing the total organization?
(A) Scientific management .Administrative management
(C) Behavioural management (D) Quantitative management
126. Informal authority flows upwards to downwards or horizontally in
(A) Business or organization (B) Formal Organization
.Informal Organization (D) None of the above
127. Which of the following does the term Corporate Social Responsibility relate to?
(A) Ethical conduct (B) Environmental practice
(C) Community investment .All of the above
128. What are the means by which long term objectives will be achieved?
.Strategies (B) Policies
(C) Strength (D) Opportunities
129. Competitive advantage can best be described as:

(A) Increased efficiency
.Something a company does better than its competitors
(C) Strength of the organization

(D) Intangible resources

130. The first idea reducing stage is , which helps spot good ideas and drop poor ones as
soon as possible
(A) Idea generation (B) Marketing strategy development
.Idea screening (D) Concept development and testing

131. Which of the following is the first step in making a correct location choice?

(A) Develop location alternatives
.Decide the criteria for evaluating location alternatives
(C) Evaluate the alternatives

(D) Make a decision and select the location
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132.

133.

134.

13S.

136.

137.

138.

139.

140.

141.

142.

Which of the following facility layout is best suited for the continuous type of production, where
manufacturing of similar products is done using the same production line?

.Product layout (B) Process layout
(C) Fixed position layout (D) None of the above
Which one of the following does not fall under qualitative forecasting method?
(A) Delphi method .Moving average methods
(C) Judgmental methods (D) Life cycle analogy
The time period between placing an order and its receipt in stock is known as
.Lead time (B) Carrying time
(C) Shortage time (D) Over time
also called part lists or building lists is the document generated at the design stage
(A) Material Requirement Planning .Bill of Materials
(C) Master Production Schedule (D) None of the above

The earliest start time rule

(A) Compares the activities starting time for an activity successor
.Compares the activities end time for an activity predecessor
(C) Directs when a project can start

(D) Regulates when a project must begin

Which term is having a closest meaning as Sampling Distributions?

.Control charts (B) On site inspection

(C) Whole lot inspection (D) Acceptance sampling
Which is NOT a characteristic of Capitalism?

(A) Market Economy (B) Supply and Demand

(C) Freedom of Competition .Classless Society
Factors that create opportunities and threats to business units is known as
(A) internal environment (B) external environment
(C) micro environment .macro environment

Which of the following social campaign of the Government of India that aims to generate
awareness and improve the efficiency of welfare services intended for girls?

.Beti Bachao, Beti Padhao (B) Gender sensitisation

(C) Ladli (D) Swachchha Bharat Mission

Which one is important aspect of the technological environment

(A) Pull of Technological Change (B) Opportunities from New Innovations
(O) Role of Research and Development .All of the above

Financial management mainly focuses on

(A) Arrangement of funds

(B) Efficient management of every business

.All elements of acquiring and using means of financial resources for financial activities
(D) None of the above
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143. The amount of current assets that varies with seasonal requirements is referred to as
working capital

(A) Permanent (B) Net

.Temporary (D) Gross
144. Investment is the

(A) Net additions made to the nation’s capital stocks

.Employment of funds on assets to earn returns

(C) Person’s commitment to buy a flat or house

(D) Employment of funds on goods and services that are used in production process

145. Which is the source of mid-term finance?
(A) Micro Credit (B) Discounting the Bills Receivable
(C) Collect Advances from Purchasers .Specialized Financial Institution
146. Which of the following is an argument for the relevance of dividends?

(A) Informational content
(B) Reduction of uncertainty
(C) Some investors’ preference for current income

.All of the above

147. A union may claim recognition for an industry in a local area if it has membership of
workers in that industry
(A) 10% (B) 15%
@):25% (D) 30%
148. The appellate authority for an industrial dispute is
(A) Management (B) Labour court
(C) Board of directors .High court/supreme court
149. The Section 20 of the Factories act discusses about
.Spittoons (B) Lighting
(C) Latrines and Urinals (D) Drinking Water
150. Strategic human resource management is the linkage between human resource strategy
and
(A) Organizational Goal (B) Organizational policies
.Corporate level Strategy (D) All of the above
151. International Labour Organization sets standards for which of the following
(A) Disabled workers (B) Human rights
(C) Elimination of forced labour .All of the above
152. When social criteria is applied on investment decisions it is called
(A) Social responsiveness (B) Ethical obligation
.Social screening (D) Sustainable financial return
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153.

154.

15S.

156.

157.

158.

159.

160.

161.

162.

The term “entrepreneurs” was applied to business initially by the French economist in the 18th
century:

.Cantil]on (B) Jan Tinbergen
(C) J.S.Mill (D) None of the above

Which one of the following is the process of entrepreneur developing new products that over
time make current products obsolete?

(A) Anatomization (B) New business model
.Creative Destruction (D) None of the above
Which of the following is alternatively called corporate venturing?
(A) Entrepreneurship

(B) Act of stating a new venture

(C) Offering new products by an existing company

. Intrapreneurship
Entrepreneurship Development Programme(s) is required to help

(A) Existing entrepreneurs .First generation entrepreneurs

(C) Future generation entrepreneurs (D) None of the above

A/An is a professional money manager who makes risk investment from a pool of equity
capital to obtain a high rate of return on investments

.Venture capitalist (B) Entrepreneur

(C) Intrapreneur (D) Buyer

To generate an idea, the entrepreneurial process has to pass through following stage:

(A) Verification (B) Illumination

.Germination (D) None of the above

Small scale industries (SSIs) also known as MSMEs are defined & categorized by the Micro,
Small & Medium Enterprises Development Act:

(A) 2004 @)2006
(C) 2008 (D) 2010
For a small scale industry it is not uncommon to be
(A) Less labour intensive than larger organization
.More labour intensive than larger organization
(C) Not at all labour intensive

(D) None of the above

Which one among following is considered as specific sectors for Priority Sector Lending like
micro and small enterprises,

(A) Agriculture and allied activities (B) Students for education
(C) Poor people for housing .All of the above

Name the institution which is set up as an apex bank to provide direct or indirect financial
assistance under different scheme

(A) NSIC @)s1pB1
(C) NABARD (D) RSBDC
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163.

164.

16S.

166.

167.

168.

169.

170.

The ‘Swarnajayanti Grammen swarojgar Yojana’ is remodeled to form National Rural
Livelihood Mission (NRLM) in which of the following years ?

(A) 2017 (B) 2015

.2011 (D) None of the above
Which one is not related to the main objectives of the SEZ Scheme:

(A) Generation of additional economic activity

(B) Promotion of exports of goods and services

.Collection, compilation and dissemination of India’s trade statistics
(D) Creation of employment opportunities

Which one is/are functionally organized division(s) of The Department of Commerce, Ministry
of Commerce and Industry, GOI

(A) Supply Division (B) Export Products Division
(C) Foreign Trade Territorial Division .All of the above

India has approved its first National Intellectual Property Rights Policy reiterating India’s
commitment to TRIPS. What does TRIPS stand for?

(A) The Agreement on Technology Related Aspects of Intellectual Property Rights
(B) The Agreement on Tender Related Aspects of Intellectual Property Rights
.The Agreement on Trade Related Aspects of Intellectual Property Rights

(D) The Agreement on Trade Relation Aspects of Intelligent Property Rights

The Indian Diamond Institute (IDI) was established as a Society in the year 1978 at
(A) Jaipur .Surat

(C) Mumbai (D) Ahmedabad

Government of Gujarat encourage Sector specific skill development in following sectors in
Industrial Policy 2015

(A) Bio-Technology (B) Defence Production
(C) Imported Wooden Furniture .All of the above

Following scheme/s of Cottage & Rural Industries (CCI), GoG, implemented by Boards
Corporations working under Cottage Commissionerate

(A) Research and development schemes (cluster)
(B) Cluster Development Scheme

(C) None of the above

@)Both (A) & (B)

As per the Gujarat Special Economic Zone Act 2004, which is the key function of the Functions
of Development Committee

(A) Provide Infrastructure facilities
(B) Erection of substantial boundary marks
(C) Ensuring social infrastructure facilities for the residents

.All of the above
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171.  Under , the promoter presents his business to large number of interested financiers.
The investors are offered with opportunity to make investment in the proposed venture

(A) Angel investment .Crowd funding
(C) Venture capital (D) None of the above
172. Writing a business plan can ensure that an entrepreneur

(A) Meets his target revenue goals

(B) Manage expense projections
.Figures out how to make business work
(D) None of the above

173. The quick verbal summary of a business plan is called as
.Elevator pitch (B) Concept pitch
(C) Business pitch (D) None of the above
174. The section of the business plan should be written last
(A) Financial statements .Executive summary
(C) Strategic plan (D) None of the above
175. Bureau of Indian Standards works under aegis of

(A) Department of Heavy Industry
.Ministry of Consumer Affairs, Food & Public Distribution
(C) Ministry of Micro Small and Medium Enterprises
(D) Ministry of Commerce and Industry
176. BIS has revised Indian standards on hallmarking

(A) Gold ingots (B) Gold coins
.Gold jewellery (D) Gold biscuits
177. Following product categories have been identified for coverage under BIS, ECO Mark:
(A) Soaps and Detergents (B) Paints
(C) Wood Substitutes .All of the above
178. Which Geographical Indication is considered in Natural Goods Category?
(A) Bhalia Wheat (B) Basmati
(C) Himachali Chulli Oil .Makrana Marble
179. Which one of the following is not a Geographical Indication?
.Indian Neem tree (B) Ratlami Sev
(C) Sankheda Furniture (D) Kutch Embroidery
180. Geographical Indications are used to indicate

(A) A geographical place
(B) The place where the goods are manufactured/produced
.A link between some characteristic of the good and the particular region where it is produced

(D) The origin of goods

181. What are the various categories of membership in handloom Export Promotion Council?
(A) Manufacturer Exporter (B) Merchant Exporter
.Both (A) and (B) (D) None of the above
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182.

183.

184.

18S.

186.

187.

188.

189.

190.

191.

192.

Export Promotion Council for Handicrafts create an environment of awareness through
Workshops on

(A) Export Marketing (B) Procedures and Documentation

(C) Buyer Seller Meet .All of the above

Select eligible agency for Jyoti Gramodyog Vikas Yojana, Cottage Commissionerate, GOG
.Grade-II Active SHGs engaged in production of goods at a small level

(B) Private Limited Companies

(C) Joint Ventures

(D) All of the above

Which industry provides employment to weavers at home as a cottage industry?

(A) Silk @) Handspun Khadi

(C) Jute (D) None of the above

Both NGOs and SHGs are support groups that strive to bring about social empowerment for a
large section of the population but also Differentiating on the basis of following factors

(A) Organizational Structures (B) Funding
(C) Scope of work done .All of the above

Followings are the benefits of The handloom (Reservation Of Articles For Production) act,
1985 was started as a measure to protect the traditional handloom sector from power looms
and mechanised sector except

(A) Employment of a large section (B) Symbol of our heritage
(C) Low carbon footprint .Economy of scale
Which five year plan focused on “Growth with social justice and equity”
(A) Sixth Five Year Plan (B) Seventh Five Year Plan
(C) Eight Five Year Plan .Ninth Five Year Plan

With the help of __ Internet of things, Companies can now implement predictive
maintenance, ensuring that machinery is serviced only when it needs to be

(A) Internal .Industrial

(C) Intelligent (D) Inside

Fourth Industrial Revolution is based on the technological concepts of

(A) Steam Power (B) Mass manufacturing

(C) Assembly line .Cyber—Physical System

Cryptocurrencies leverage to gain decentralization, transparency, and immutability
(A) Computer Vision .Blockchain Technology

(C) Cloud Computing (D) Artificial Intelligence

What does “Agenda 21” mean in global aspect?

(A) It’s an agreement between 21 developing countries of Asia and Africa

(B) It’s a free trade agreement between developed countries of the world

.Non—binding action plan of the United Nations with regard to sustainable development
(D) None of the above

In the times of the Covid-19 crisis, 3D printing has proved immensely useful in creating
(A) Ventilator Splitter (B) Face masks and face shields

(C) PPE Kit @) Al of the above
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193.

194.

195.

196.

197.

198.

199.

200.

201.

202.

203.

204.

Which of the following impurity in cast iron makes it hard and brittle?

(A) Silicon @) sulphur

(C) Manganese (D) Phosphorus

Steels can have maximum percentage of carbon as:

.2 percent (B) 0.4 percent

(C) 6.67 percent (D) 3.6 percent
Ceramics are good...

(A) Conductors .Insulators

(C) Superconductors (D) Magnetic materials

Recrystallization temperature is one:
(A) At which crystals start forming from molten metal when it is cooled

.At which new crystals first begin to form from the old deformed one when a strained metal
is heated

(C) At which change of allotropic form takes place
(D) At which crystals grow bigger in size

In polymer composites, polymer acts as

.Matrix (B) Reinforcement

(C) Interphase (D) Interface
Semi-solid lubricant is

(A) Castor oil (B) Lard oil
.Grease (D) All of the above
Rayon is made from:-

.wood pulp (B) bark of the tree

(C) dry leaves (D) petroleum products
Di-acetate fiber is :

(A) Manmade fiber (B) Modified protein fiber
.Modiﬁed cellulosic fiber (D) None of the above
Which of the following is not a natural abrasive?

(A) Emery (B) Quartz

.Silicon carbide (D) Sandstone

Which is a thermoset polymer

(A) Polyethylene (B) Polypropylene

(C) Polylactic acid .Epoxy

Which of the following is not a thermodynamic property?

(A) Pressure (B) Temperature
.Heat (D) Specific volume

A process, in which the gas is heated or expanded in such a way that the product of its pressure
and volume remains constant, is called

.Isothermal process (B) Isobaric process
(C) Adiabatic process (D) Polytropic process
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205.

206.

207.

208.

2009.

210.

211.

212.

213.

214.

An isentropic process
(A) is always reversible
.need not be adiabatic or reversible

A Thermodynamic cycle is impossible if

(A) (ﬁ%d)

Atmospheric pressure is equal to

(A) 1.013 bar

(C) 70 mm of Hg

First law of thermodynamics deals with
(A) conservation of heat

(C) conservation of mass

The Unit of Resistivity is

(B) is always adiabatic

(D) is always frictionless

®) $2 =0

D) $ds>0

(B) 101.3 kKN/m?
.All of the above

(B) conservation of momentum

.conservation of energy

(B) Ohm/m
(D) Ohm m?

The correct statement for resistance R offered by a conductor is/are

(A) It varies directly as its length, 1

(B) It varies inversely as the cross-section A of the conductor

(C) It depends on the nature of the material

.All of the above

A piece of silver wire has a resistance of 1 2. What will be the resistance of manganin wire
of one-third the length and one-third the diameter, if the specific resistance of manganin is

30 times that of silver

@ 90 Ohm

(C) 120 Ohm

(B) 100 Ohm
(D) 150 Ohm

Resistivity of metallic conductors with rise in temperature

. Increases

(C) Remains Constant

The algebraic sum of voltages around any closed path in a network is equal to

(A) Infinity

@0

(B) Decreases

(D) Increases then decreases

B) 1
(D) Negative polarity

What is the meaning of the term ‘Processing’?

(A) Feeding the information
(B) Taking a printout from a printer

.Converting raw data into the desired information

(D) Typing in keyboard
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215.

216.

217.

218.

219.

220.

221.

222.

223.

224.

What is the common measurement of unit of a computer memory?

A) IQ
(C) Terabyte

. Byte

(D) Gigabyte

Anti-lock brakes in cars, navigation systems, smart home appliances, home security systems,

cell phones and smart phones are example of

(A) Computer system
.Embedded system

(B) Control system
(D) Dynamic system

Which register is used as working area in CPU?

(A) Program counter

(C) Stack pointer

.Accumulator

(D) Instruction register

Microprocessor unit or central processor unit consist of

(A) Control circuitry
(C) Memory

(B) ALU
.All of the above

The memory that is programmed at the time of manufacture is

Minimum number of temporary variables needed to swap two variables is:

A1

O3

Stack is useful for implementing
(A) Radix sort

(C) Quick sort

(B) PROM
(D) EEPROM

(B) 2

@
. Recursion

(D) Breadth first search

The symbol is used to represent decision in flowchart

(A) Circle

. Diamond

Which of the following is not a hardware?

(A) Network Switch
(C) Motherboard

(B) Rectangle
(D) None of the above

(B) Cisco Router
.Virtual Router

How many times the following code be executed?

{

x=10;
while(x = 1)
x++;
}

(A) Never
(C) 15 times

(B) Once
.Inﬁnite number of times
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225. Under mechanism of scientific management, scientific task setting includes:

(A) Time study (B) Motion study
(C) Method study .All of the above
226. Policy formulation is the function of
.top level management (B) middle level management
(C) operational management (D) All of the above

227. Which of the following statement best described the principle of Division of work ?
(A) work should be divided into small tasks (B) labor should be divided
(C) resource should be divided among jobs .it leads to specialization

228. Who is known as the father of scientific management?
(A) Harold Koontz (B) Henry Fayol
.F.W. Taylor (D) Max Weber

229. Unity of command implies
(A) A subordinate should receive orders from all the superiors
(B) Individuals must sacrifice in the larger interest
.Be accountable to one and only one superior
(D) None of the above
230. Identity the odd one from the following

(A) Notice (B) Memos
(C) Orders . Complains
231. Grapevine is
(A) formal communication (B) barrier in communication
(C) lateral communication .informal communication
232. Who introduced Fish Bone Diagram for analysis of a problem?
(A) Edwin Flippo .Kaoru Ishikawa
(C) EW. Taylor (D) Edward Demin
233. What is the full form of TQM ?
(A) Total quality measurement (B) Total quantity management
(C) Typical quality management .Total quality management
234, is known as rethinking and redesigning of the core business process?
(A) Quality circle (B) Bench marking
.Business process reengineering (D) Empowerment
235. The three major business functions necessary to all organizations are

(A) Finance/accounting, personnel, operations
(B) Marketing, production, operations
(C) Marketing, finance/accounting, research & development

.Marketing, finance/accounting, production/operations
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236.

237.

238.

239.

240.

241.

242.

243.

244.

245.

Which of these is NOT one of the basic functions of the management process?

(A) Controlling (B) Leading
.Inspecting (D) Staffing

The person who developed plant-wide quality control systems was
(A) Henry Ford .W Edwards Deming
(C) Eli Whitney (D) Frederick Taylor

Two car wash employees are paid $7.50 an hour each and are capable of washing 12 cars per
hour, using $1 of water and $2 of soap and other cleaning supplies. What is the multifactor
productivity of this operation?

(A) 1.05 dollars per car (B) 0.95 cars per dollar
(O) 1.8 dollars per car .0.66 cars per dollar
The re-order point is:

(A) The point when stock reaches zero

(B) The level inventory will have reached when delivery is made
.The point at which stock will fall to zero minus lead-time

(D) The point when one unit of sock remains in stock

When a supplier delivers large quantities of inventory to their customers to store, but only
charge for the goods as and when they are used, it is called:

(A) Multi-stage inventory .Consignment stock
(C) Components inventory (D) Multi-echelon stock
A public limited company (PLC):

(A) may employ many persons, has unlimited liability and does not need to have its accounts
audited

(B) may offer its shares for sale to the public, has limited liability and does not need to have its
accounts audited

(C) employs many persons, has unlimited liability and needs to have its accounts audited

.may offer its shares for sale to the public, has limited liability and needs to have its accounts
audited

A budget is not:
.a forecast (B) a plan
(C) a qualitative statement (D) a part of the strategic management process

Examples of financial derivatives do not include:

.loans (B) swaps

(C) options (D) futures

A debenture:

(A) does not require security .is a long-term loan
(C) receives dividend payments (D) is a short-term loan

Corporate value is:
.present value of future returns (B) future value of present returns

(C) returns on equity (D) returns on investment
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247.

248.

249.

250.

251.

252.

253.

254.

255.

are the resources that provide utility value to all other resources

.Men (B) Material

(C) Money (D) Machinery
Human resource management is normally in nature
.proactive (B) reactive

(C) combative (D) None of the above
The process of eliminating unsuitable candidates is called
.selection (B) recruitment

(C) interview (D) induction

What is the main purpose of a business strategy?

(A) To focus attention on failing areas of business practice

(B) To decide hiring approaches

(C) To create a consistent corporate image

.To secure and sustain competitive advantage within a given market for goods and services
In strategic human resource management, HR strategies are generally aligned with
.business strategy (B) marketing strategies

(C) finance strategy (D) economic strategy

What do you call small firms that yield a level of income for their owner that is similar to what
they would earn when working for an employer?

(A) sole proprietorship (B) small business

(O) lifestyle firm .salary-substitute firm
Influence on innovation and job creation best typifies entrepreneurial firms’
(A) impact on society .economic impact

(C) impact on larger firms (D) impact on the environment

The entrepreneurial process is essentially comprised of each of the following steps except:
(A) Deciding to become an entrepreneur

.Inventing a new product or process

(C) Managing and growing the entrepreneurial firm

(D) Moving from an idea to an entrepreneurial firm

Which programme was launched to prevent child trafficking and rescue children from persons
who try to engage them in begging, sexual trade and antisocial activities?

(A) Kilkaari @) Muskaan
(C) Rahat (D) Khusz

What does ‘S’ stand for in SATH, an initiative by government of India to initiate transformation
in Health and Education Sectors by associating with states?

ustainable ocia
Sustainabl (B) Social
(O) Societal (D) Supervisory
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257.

258.

259.

260.

261.

262.

263.

GIAN is an initiative aimed at tapping the talent pool of scientist and entrepreneurs
internationally by collaborating Indian institutes of Higher Education in India with Foreign
academics. What is “I” stands for GIAN?

.Initiative (B) Interconnection
(C) Intercommunication (D) Intelligence

Which campaign was launched by NITI Aayog under which students from Class 6th to Class
12th will learn innovation skills and develop ideas that will go on to transform India at Atal
Tinkering Labs?

(A) Vision India Campaign .Mentor India Campaign

(C) Atal India Campaign (D) Badhe Bharat Campaign

What is the name of an electronic platform for no child labour developed by the Labour Ministry?
(A) Hausala .PENCIL

(C) Lakshya (D) Bal Shram

Gujarat Chief Minister Vijay Rupani launched ‘Poshan Abhiyan’, a statewide mission to
eradicate malnutrition among children and also launched ‘PURNA’ project to eliminate
malnutrition among girls in the age group of 14 to 18. ‘PURNA’ stands for

(A) Prevention of Under Nutrition and Remedy of Nutritional Accidents
(B) Prevention of Under Nutrition and Rehabitation of Nutritional Actions
(C) Prevention of Under Nutrition and Remedy of Nutritional Activities
.Prevention of Under Nutrition and Reduction of Nutritional Anaemia

Which of the following organisation/ministry has launched Vittiya Saksharata Abhiyan
(VISAKA) scheme?

(A) RBI

(B) Finance Ministry

.Ministry of Human Resource Development
(D) Ministry of Home Affairs

Which one of the following is not an objective of the Pradhan Mantri Krishi Sinchayee Yojana
(PMKSY)?

(A) To achieve convergence of investment in irrigation at the field level
(B) To expand cultivable area under irrigation

(C) To improve on-farm water use efficiency to reduce wastage of water
.To protect farmers against crop failure due to natural calamities

Which one the following is the maximum age of joining National Pension System (NPS) under
the NPS- Private Sector?

(A) 55 years (B) 60 years

(C) 75 years .65 years

‘Modified Special Incentive Package Scheme’ targets which of the following sectors?
(A) Heavy industries

.Electronic Manufacturing

(C) Automobile manufacturing and assembly

(D) Pharmaceuticals
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265.

266.

267.

268.

269.

270.

271.

272.

What is the full form of the SWAYAM - an indigenous IT platform for hosting the Massive
Open Online Courses (MOQOCs)?

(A) School Website of Active Lesson for Youth Aspiring Minds

.Study Webs of Active Learning For Young Aspiring Minds

(C) Student Website of Active interaction for Young Aspiring Minds

(D) Swayam Website of Approachable learning for Youth aspiring minds

Pradhan Mantri Van Dhan Yojana is the flagship scheme of which Union Ministry?
(A) Ministry of Environment, Forest and Climate Change

.Ministry of Tribal Affairs

(C) Ministry of Earth Sciences

(D) Ministry of Animal Husbandry, Dairying and Fisheries

The flagship “Ganga Amantran Abhiyan” programme is conducted by which organisation?
.National Mission for Clean Ganga (B) Ganga Flood Control Mission

(C) National Water Development Agency (D) Central Water Commission

In context with the new recruitment system to be followed from 2021 for various government
jobs, what does CET stand for?

.Common Eligibility Test (B) Common Entrance Test
(C) Central Eligibility Test (D) Central Entrance Test

What is the name of the campaign launched by NITI Aayog to ensure well-being of senior
citizens during COVID-19 pandemic?

@) Surakshit Dada-Dadi & Nana-Nani Abhiyan
(B) Take care of Elders

(C) Dada and Dadi Bachao Abhiyan

(D) Suraksha Samriddhi Abhiyan

Internet Saathi’ is a collaborative initiative of which multi-national company along with Tata
Trusts in India?

(A) Facebook .Google
(C) Microsoft (D) Amazon

The first ever common foundation course for civil servants at the Statue of Unity, Kevadia,
Gujarat launched by GOI is

.Aarambh (B) Samay

(C) Sarthak (D) Shakti

In respect of Commercial Banks which entity monitors the Kissan Credit Card (KCC) Scheme?
(A) NABARD (B) SIDBI

@ )rs1 (D) SBI

Every year National Handloom Day is celebrated across India on

.7 August (B) 7 September

(C) 7 October (D) 7 November
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274.

275.

276.

2717.

278.

279.

280.

281.

Mid-Day Meal Scheme was launched in the year?

(A) 1993 @) 1995

(C) 1997 (D) 1999

Annapurna Scheme was launched by which of the following ministry?
(A) Ministry of Agriculture

.Ministry of Rural Development

(C) Ministry of Woman and Child Development

(D) None of the above

What is the MSME Public Procurement Portal called?

(A) MSME Samjhauta @) MSME Sambandh
(C) MSME Sandesh (D) MSME Sampark
Which among the following is not an initiative of SIDBI?

(A) SIDBI Venture Capital Limited

(B) MUDRA

.Rural Infrastructure Development Fund

(D) Trade Receivables and Discounting Systems

Who has the majority shareholding in SIDBI?

(A) Government of India

.State Bank of India

(O) Life Insurance Corporation of India

(D) National Bank for Agriculture & Rural Development

Venture capital is concerned with:

.New project having potential for higher profit

(B) New project of high technology

(C) New project having high risk

(D) All of the above

A performance and credit rating mechanism has been launched by the MSME Ministry to
assess creditworthiness and capabilities of industries in the sector. What is it called?

.Performance and Credit Rating Scheme

(B) Zero Defect Zero Effect Certification

(C) Performance and Economy Rating Scheme

(D) None of the above

What does ZED stand for in the context of MSMESs and certification in manufacturing?
.Zero Defect Zero Effect (B) Zero Effect Zero Defect

(C) Zero Effectiveness Zero Defectiveness (D) Zero Delays Zero Effect

A business where an individual is both the owner and conductor of the business affairs is
called

.Sole Proprietorship (B) Partnership
(C) Corporation (D) None of the above
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282. The idea and actions that explain how a firm will make its profits refers to a

(A) Mission (B) Goal
.Strategy (D) Objective
283. Entrepreneurs are best as
(A) Managers (B) Venture capitalists
(C) Planners .Doers
284. The plan shows whether the business is economically feasible or not
(A) Financial .Business
(C) Economic (D) Marketing

285. MSMED stands to
.Micro, Small & Medium Enterprises Development
(B) Mini, Small & Medium Enterprises Development
(C) Micro, Small & Medium Entrepreneurship Development
(D) Micro, Small & Medium Enterprises Department

286. Financial feasibility analysis can be done by comparing with the estimated sales figure
(A) cash flow statement (B) balance sheet
.break—even point (D) profit and loss statement

287. Viscosity index (VI) is a measure for the change of viscosity with change in
.Temperature (B) Pressure
(C) Volume (D) All of the above

288. Viscose rayon filaments are produced through the process of:

.Solution spinning (B) Melt spinning
(O) Gel spinning (D) Dry jet wet spinning

289. Brass is a solution of molten copper in
(A) solid zinc .molten zinc
(C) gaseous zinc (D) molten tin

290. Diamond is lustrous because
(A) it is colourless (B) it is hard
(CO) it is pure .its refractive index is high

291. Computers process data under control of sets of instructions termed as
.Computer programs (B) Computer data
(C) Computer buses (D) Computer instructions

292, Which of the following is a keyword used for a storage class?

(A) printf (B) external
.auto (D) Scanf
293, The ratio of a firm’s monthly output to the number of labor hours used in the same month
would be a measure of
.labor productivity (B) capital productivity
(C) machine productivity (D) multifactor productivity
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295.

296.

297.

298.

299.

300.

Japanese firms used the concept of to convert from mass production to lean production
(A) division of labor (B) scientific management

. just-in-time (D) interchangeable parts

Which of the following quality tools display major causes of poor quality on a graph?

(A) Process flow chart .Fishbone diagram

(C) Histogram (D) Scatter diagram

Special cause variation in a process is more likely to be detected with

(A) wider control limits .narrow control limits

(C) wider specification limits (D) narrow specification limits

The expected number of defective items that will pass on to the customer with a sampling plan
is known as the

(A) lot tolerance percent defective (B) acceptable quality level

.average outgoing quality (D) sampling plan

Which of the following is not a characteristic of an effective product design process?
(A) matches product characteristics with customer requirements

.maximizes the revisions necessary to make a design workable

(C) ensures that customer requirements are met in the least costly and simplest manner
(D) reduces the time required to design a new product or service

Creating a preliminary design that can be quickly tested and then either discarded or further
refined is referred to as

(A) benchmarking .rapid prototyping
(C) concurrent design (D) perceptual mapping
In a waiting line system, the reflects the probability that the server is busy and the

customer must wait
. utilization factor
(B) queue discipline
(C) average number of customers in the system

(D) probability the system is idle
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